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What is an Acceptable Use Policy
(AUP)

- An Acceptable Use Policy (AUP)
includes rules and procedures for
how network users should behave
and what they are allowed to do on
the network.

How does run length encoding work

By constructing an algorithm that
can later reconstruct the file by
reproducing the sequence of data.

What are VPNSs

VPNs are virtual private networks
that use software to re-divide a
WAN into smaller networks, for

example, for groups of workers to

communicate and share
information separately.

What are the three types of errors
that may occurin a program

Syntax errors, logic errors, and run-
time errors.

What does the INSERT INTO
statement do in SQL

It is used to insert new data into a
database table.

What is Office 365

Office 365 is an example of cloud
computing, an online service
provided by numerous companies
that clients can access to use
software and store data.
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